Practice % Concentration

%C(m/m)
1. You are given 150 grams of a 5% acid solution.
a) What is the mass of acid in this solution?
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b) What is the mass of water in this solution? V- W‘aos{s‘ acia = \# 53
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2. A 720g solution of salt contains 25 g of salt
a) What is the percent mass concentration?
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b) What is the mass of the water?
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3. You have 50 g of an aC|d and are making a 15% acid solution.

a) What is the mass of the solution?
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b) What is the mass of the water needed to make this solution?
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%C(v/v)
4. You dissolve 15 mL of honey in 250mL of water.
a)What is the percent volume concentration?
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b) What is the volume of the solution?
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5. You want to make 80 mL of a 15% solution of acid
a) What is the volume of the acid? -
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b) What is the volume of the solution?
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6. You have dissolved 20 mL of solute to make a solution with a percent volume
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a) What is the volume of the solution? 35 |
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8. You want to make 100mL of a 6% solution.
What is the mass of the solute?
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9. You have 680g of a solute in 2222mL of water.
What is the percent concentration of the solution?
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10. You have 5g of solute to make a 10 % m/V solution.
What is the volume of the solution?
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11. What volume of solute is need to make 300 mL of a 15% solution of peroxide?
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12. What is the concentration by %(m/v) if 67 g are dlssolved to make 1.21L of TT—

solution?
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13. You need to make a 540 g of a 5% acid solution.
a. What is the mass of the acid in the solution?
b. What is the mass of the solvent?
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14. 1f 162.35 g aluminum hydroxide are dissolved in 6750 mL of soli?tlon what is

the concentration of the solution?
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